Dreaming of Spring Doily Crochet Pattern
This pattern is written using US crochet terminology.

THIS PATTERN VERSION IS ALTERED VERSION OR ORIGINAL PATTERN.
Skill Level: Advanced Beginner
Measurements: about 9 inches across

Materials:
Steel hook 1.4 mm
Crochet cotton thread size 10, about 100 yards

/i 8L

Abbreviations:

ch: chain

sc: single crochet

hdc: half double crochet

dc: double crochet

tr: treble crochet

dc2-tog: 2 double crochet finished together (also known as dc 2 decrease)
dc3-tog: 3 double crochet finished together (also known as dc 3 decrease)
dc4-tog: 4 double crochet finished together (also known as dc 4 decrease)
sl st: slip stitch

st: stitch

* *instructions between asterisks should be repeated as many times as there are stitches to accommodate.
{ } instructions within brackets should be repeated as many times as stated.
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Instructions:

Ch 7, join with sl st in ring or use a magic loop start. [ Center should lay flat by row 10 — if you use magic
loop, you can adjust the center so row 1-10 lay flat. ]

Round 1: ch 3 (counts as Ist dc here and throughout), 23 dc in ring; join with sl st to 3rd ch of beginning
ch-3. (24 dc)

Round 2: ch 3, dc in next 2 dc, ch 2, *dc in next 3 dc, ch 2* around; join with sl st to 3rd ch of beginning
ch-3.

Round 3: ch 3, dc in same space as joining, dc in next dc, 2 dc in next dc, ch 2, *2 dc in next dc, dc in next
dc, 2 dc in next dc, ch 2* around; join.

Round 4: ch 3, dc in next 4 dc, ch 3, *dc in next 5 dc, ch 3* around; join.
Round 5: ch 3, dc in next 4 dc, ch 4, *dc in next 5 dc, ch 4* around; join.

Round 6: ch 3, dc in next dc, (dc, ch 2, dc) all in next dc, dc in next 2 dc, dc in each of next 4 ch, *dc in
next 2 dc, (dc, ch 2, dc) all in next dc, dc in next 2 dc, dc in each of next 4 ch* around; join.

Round 7: ch 3, dc2-tog over next 2 dc, ch 5, *dc2-tog over next 2 dc, dc in next 6 dc, dc2-tog over next 2
dc, ch 5* around, end with dc2-tog over next 2 dc, dc in next 5 dc; join.

Round 8: sl st to 3rd ch of next ch-5, ch 6 (counts as dc and ch 3), dc in same ch, ch 2, dc2-tog over next
dc2-tog and dc, dc in next 4 dc, dc2-tog over next dc and dc2-tog, ch 2, *(dc, ch 3, dc) all in 3rd ch of next
ch-5, ch 2, dc2-tog over next dc2-tog and dc, dc in next 4 dc, dc2-tog over next dc and dc2-tog, ch 2*
around; join with sl st to 3rd ch of beginning ch-6.

Round 9: ch 6 (counts as dc and ch 3), dc in same st as joining, (dc, ch 3, dc) all in next dc, ch 2, dc2-tog
over next dc2-tog and dc, dc in next 2 dc, dc2-tog over next dc and dc2-tog, ch 2, *{(dc, ch 3, dc) all in
next dc} twice, ch 2, dc2-tog over next dc2-tog and dc, dc in next 2 dc, dc2-tog over next dc and dc2-tog,
ch 2* around; join with sl st to 3rd ch of beginning ch-6.

Round 10: ch 6 (counts as dc and ch 3), dc in same st as joining, (dc, ch 3, dc) all in space between next 2
dc, skip next ch-3, (dc, ch 3, dc) all in next dc, ch 2, skip next ch-2, dc4-tog over next 4 st (over dc2-tog, 2
dc, and dc2-tog), ch 2, *(dc, ch 3, dc) all in next dc, (dc, ch 3, dc) all in space between next 2 dc, skip next
ch-3, (dc, ch 3, dc) all in next dc, ch 2, skip next ch-2, dc4-tog over next 4 st, ch 2* around; join with sl st
to 3rd ch of beginning ch-6.
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Round 11: sl st in next ch-3 space, ch 3, 6 dc in same ch-3 space, ch 1, {7 dc in next ch-3 space, ch 1} twice,
skip next ch-2 space, dc4-tog, and ch-2 space, -- then chl, *{7 dc in next ch-3 space, ch 1} three times,
skip next ch-2 space, dc4-tog, and ch-2 space, -- then chl,* around; join with sl st to 3rd ch of beginning
ch-3.

Round 12: sl st in next dc, ch 3, dc in next 4 dc, ch 3, skip next dc, ch-1, and dc, *dc in next 5 dc, ch 3,
skip next dc, ch-1, and dc, ch2* around; join.

Round 13: sl st in next dc, ch 3, dc in next 2 dc, ch 2, 3 dc in 2nd ch of next ch-3, ch 2, skip next dc, *dc in
next 3 dc, ch 2, 3 dc in 2nd ch of next ch-3, ch 2, skip next dc* around; join.

Round 14: sl st in next dc, ch 5 (counts as 1st dc and ch 2), 2 dc in each of next 3 dc, ch 2, *skip next dc,
dc in next dc, ch 2, skip next dc, 2 dc in each of next 3 dc, ch 2* around; join with sl st to 3rd ch of beginning
ch-5.

Round 15: sl st to next dc, ch 4 (counts as Ist dc and ch 1), {dc in next dc, ch 1} five times, skip next ch-2,
dc, and ch-2, -- then ch1, *{dc in next dc, ch 1} six times, skip next ch-2, dc, and ch-2 — then ch1,* around;
join with sl st to 3rd dc of beginning ch-4.

Round 16: ch 1, hdc in same st as joining, hdc in each dc and each ch around except where there are 2ch
between the groups of 6dc [except where there are 2 ch together between groups of 6dc, put only 1hdc
over the 2ch grouping]; join with sl st to 1st sc.

Fasten off.
Block.



